SATPREP Name

Assignment- Hyperbola Date

Identify the vertices, foci, asymptotes, direction of opening, length of the transverse axis, length
of the conjugate axis, length of the latus rectum, and eccentricity of each.
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1))

4)

7)

Answers to Assignment- Hyperbola

Vertices: ( ) ( 6, 0)

Foci: (2\/7 O) ( \/7 0)

Asym.: y = gx

2

=—-—X
4 3

Opens left/right
Transverse Axis: 12 units
Conjugate Axis: 8 units

16
Latus Rectum: ? units

13
Eccentricity: N ~1.202

Vertices: (9, O), (—9, O)

Foci: (3+/13, 0), (-3+/13, 0)
Asym.: y = %x
2
Y773
Opens left/right

Transverse Axis: 18 units
Conjugate Axis: 12 units
Latus Rectum: 8 units

1
Eccentricity: T3 ~1.202

Vertices: (5, O), (—5, O)
Foci: (\/146, 0), (-~ 146, 0)
Asym.: y = %x

o
=77

Opens left/right
Transverse Axis: 10 units
Conjugate Axis: 22 units

Latus Rectum: T units

V146

Eccentricity: ~2.417

2)

5)

8)

Vertices: (8, O), (—8, O)

Foci: (\/E, O), (—\/g, 0)

1
Asym.: y = gx

1

=—-—X
Y 8

Opens left/right
Transverse Axis: 16 units
Conjugate Axis: 2 units

1 .
Latus Rectum: Z units

> ~ 1.008

Eccentricity:

Vertices: (11, 0), (11, o)

Foci: (\/5 0) ( )

13
Asym.: y = 11x
13
e BT
Opens left/right
Transverse Axis: 22 units

Conjugate Axis: 26 units

338 .
Latus Rectum: F units

=0 ~1.548

Vertices: (10, 0), (~10, 0)

Foci: (2J_ 0),(=2~/29, 0)

Asym.: y = gx

2

=——X
=TS

Opens left/right
Transverse Axis: 20 units
Conjugate Axis: 8 units

16 .
Latus Rectum: ? units

2 ~1.077

3)

6)

9)

Vertices: (0, 11), (0, -11)

Foci: (0, V/170), (0, =~/170)

11
Asym.: y = 7x

11
=——X
4 7

Opens up/down
Transverse Axis: 22 units
Conjugate Axis: 14 units

98
Latus Rectum: H units

0 ~1.185

Eccentricity:

Vertices: (O, 4), (0, —4)

Foci: (O, \/g), (O, —\/E)

4
Asym.: y=—x
ym.: y -

4
=—-—X
Y 7
Opens up/down
Transverse Axis: 8 units

Conjugate Axis: 14 units

49
Latus Rectum: 7 units

> ~2.016

Vertices: (0, 10), (0, -10)
Foci: (0, 10v/2), (0, =10~/2)
Asym.: y=Xx

y=-X
Opens up/down
Transverse Axis: 20 units
Conjugate Axis: 20 units
Latus Rectum: 20 units

Eccentricity: \/5 ~1.414



10)

12)

Vertices: ( ), (0 6)
Foci: (0 3\/7),( —3\/g)
Asym.: y=2x

y=-2x
Opens up/down

Transverse Axis: 12 units
Conjugate Axis: 6 units
Latus Rectum: 3 units

5
Eccentricity: N 1.118

Vertices: ( 0, ), (O, 3)

F001( @),(0, \/5)

3
Asym.: y=—x
ym.: y -
3

y=-—X

7
Opens up/down
Transverse Axis: 6 units
Conjugate Axis: 14 units

98
Latus Rectum: ? units

8 ~2.539

11)

13)

Vertices: (11 O),( 11, O)

Foci: (\/E 0) ( \/7 O)

Asym.: y = Hx

1
=—-—x
Y 11

Opens left/right
Transverse Axis: 22 units
Conjugate Axis: 2 units

2 )
Latus Rectum: H units

V122

Eccentricity: ~ 1.004

Vertices: ((), 6), (O, —6)

Foci: (0, 6~/5), (0, =6/5)

1
Asym.: y = Ex

1
y=- 2x
Opens up/down
Transverse Axis: 12 units
Conjugate Axis: 24 units

Latus Rectum: 48 units
Eccentricity: \/g ~2.236

14) Vertices: ( ),( 7, O)
Foci: (7\/§ O),( \/7 )
Asym.: y=2x

y=-2x
Opens left/right

Transverse Axis: 14 units
Conjugate Axis: 28 units
Latus Rectum: 56 units

Eccentricity: \/g ~2.236





